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Booklet A (50 marks)

.given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Sh answer on the Oplical Answer Sheet.

(25 x 2 marks)

1. Study the things in the box below.

A/ @

Which of the following classifications can be used to classify the things into two groups?

A According to size
B According to shape
C According to colour

(1) Bonly

{2) A and C only
(3) BandConly
(4) Ali of the above

2. Study the classification below.

Animals
A B C
Bee Crow Whale
Beetle Eagle Goldfish
Butterfly Parrot Seahorse
Which of the animals above is incorrectly classified?
(1) Crow |
(2} Whale
(3)  Beete
{4) Seahorse
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No | P

3. The chart below shows how some organisms are classified.
Organisms
A 4
Yes Does #t make its own
food?
Does it
Yes have No

! flowers?
Does it N Q
grow on Q

land? 1
S R

Which of the following best represent P, Q, R and S as shown in the chart above?

(M
(2
3)
@

P Q R S
papaya plant ladder fern water hyacinth sunflower
mushroom banana water lily balsam
bracket fungus moss balsarm water lily
toadstool staghom fern lotus 4 ixora

4, Some pupils made the following statements on fungi and bacteria.

Pupil A:
Pupil B:
Pupil C:
Pupil D:

organisms.

Both fungi and bacteria can be useful to humans.
Both fungi and bacteria do not make their own food.

All fungi and bacteria cannot be seen with our naked eyes.
Fungi feed on dead and living organisms but bacteria feed on living

Who made the correct statements on fungi and bacteria?

)
2
3
(4)

Pupils Aand B
Pupils C and D
PupilsA,Band C
Pupils A, B, Cand D
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5. Mike carmied out an experiment on 4 different types of materials Q, R, S and T. He
placed a few drops of water on each material and observed the material.

Material : Observation
Q The water slowly seeped into the material.
R The water flowed off the sides of the material.
S The water was absorbed into the méterial immediately.
T The water was absorbed into the materiaf after 5 minutes.

Based on the information above, which of the 4 materiails, Q, R, S and T is most
suitable to make a raincoat?

(1 Q
(2 R
& s
4 T

6. Which two body systems work together to supply oxygen to the body?
{1) Muscular and Skeletal System '
(2) Digestive and Circulatory System
3) Digestive and Respiratory System
(4) Respiratory and Circulatory System
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7. Study the classification table below.

Human Body Systems
A Circulatory C
nose B gullet
lungs blood stomach
windpipe biood vessels small intestine

Which one of the following sets matches A, B and C?

)
(2
3
@

A B Cc
respiratory system heart digestive system
digestive system brain muscular system
skeletal system heart muscular system
respiratory system brain digestive system
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Which of the following correctly describes the functions of parts O and P of the human

Study the diagram below.

digestive system?

Part O

Part P

0

Saliva softens and-digests the food.

Digested food is absorbed into the
blood.

Food is digested further and mixed

(2) with other digestive juices. Digestion begins here.

3) Digested food is absorbed into the Chewed food is delivered to other
blood. ‘ parts of the digestive system.

@) Food is chewed and ground into Food is digested further and mixed
smaller pieces. with other digestive juices.
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9. Aloysius cut off part(s) of a potted plant. He ieft the plant near the window and watered
it daily. One week later, the potted plant died. Which pari(s) of the plant did Aloysius

cut? :
A Fruits

B Leaves
103 Flowers
(1) Aonly
2) B only
{3) Conly
4 AandC

10. The diagram below shows two plants.

PlantY

Based on the informatiori given in the diagrams above, which of the following
statement(s) is/are true for both plants? ‘

A They have weak stems.
B They are flowering plants.
C They make their own food.

M) B only

(2) AandConly
(3) BandConly
(4 ABandC
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Amy set up the experiment as shown below.

celery
stalk

The bases of the celery stalks in set-ups A and B were wrapped with 2 different
materials X and Y. Three days later, Amy recorded her observations of the celery

stalk in the table below.

celery
stalk-

beaker
oftap — {77
water

Set-up A Set-up B Set-up C
Observation Leaves are Leaves are Leaves are
green and firm | yellowish and green and firm.
- | droopy
Which of the -following statements show the correct conclusion of Amy's
experiment?
A Water can pass through material X.
B More water passed through material Y than material X.
C The leaves of the celery stalk in set-up B is likely to be firm if the base of
the celery stalk was not wrapped with material Y.

@) A and B only
(2) AandConly
3) B and C only
“4) A,BandC
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12.  John made some observations of the iife cycles of a butterfy and a mosquito.
He recorded his observation in the table below. He placed a tick (v') to represent the
characteristic that the insect has and a cross (X) to represent the characteristic that
the insect does not have.

Butterfly | Mosquito
A | 4 stages in life cycle v X
B | Lays eggs in water v v
C .| The young resembles the adult X X
D | itis a pest during the larval stage v X

Which of his observations did John record correctly?

()
4
3
4

A and B only
A and D only
B and C only
C and D only

13.  The diagram below shows the life cycle of animai X.

Aduit X

\,

©

Based on the diagram above, which of the following statements is not tfue about

animal X?

A it gives birth to its young alive.

B It has three stages in its life cycle.

C Its young closely resembles its parent.
(1) AandBonly

(2 AandConly

(3 BandConly

4 A.BandC
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14.  Ahmad found a young of animal R and observed it over a few days. He recorded his
observations in the table below.

It moults.

| It eats a lot.

it resemnbles its aduit.

It does not have wings.

it moves around quickly.

Which one of the following animals could the young of animal R most likely be?

(1
2
®
(4)

Housefly
Mosquito
Cockroach
Mealworm Beetle

15.  Alvin prepared four set-ups, A, B, C and D, using similar types of seeds with different
conditions as shown in the table below.

Set- Up Type of cotton wool Location
A moist in the freezer
B moist near a window
C dry near a window
D dry in the freezer

Which set-ups should Alvin use if he wants to test if seeds need warmth to germinate?

M
)
&)
@)

AandB
AandC
AandD
BandC
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16.  Which of the following shows the correct order of the stages and process in the life

cycle of a flowering plant?

(1)

germinati

seed

)

ACS (Junior) P4 SA1 2015
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2)
germination
adult
plant
4

adult
plant

germination
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17. - Susan observed some green bean seeds germinate and recorded her observations in
the table shown below.

Day Observation
2 The seeds swell
3 The388¥coat breaks
4 The roots start to appear
The shoots start to appear
14 The shriveled seed leaves have dropped off

From which day _onwards will the seedling most likely be able to start to make its own

food?

1 Day 2
(2) Day 4
(3) Day7
(4) Day 10
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18.  Study the classification table below.

Animais
|
| !
3-stage life cycle 4-stage life cycle
1 I .
[ 1 1 i

X Y lay eggs in water lay eggs on land

Frog Cockroach Mosauito Butterfly
Dragonfly Chicken .

Give a suitable sub-heading for X and Y.
X Y
&) Lay eggs Do not lay eggs
(2) Canfly Cannot fly
(3) Breathe through gilis Breathe through lungs
@ Spends some parts of its life | Spends all its life cycle on
cycle in water fand-

ACS (Junior) P4 SA1 2015
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19. Monica found Plant X, growing in her school garden. She recorded some of her
observations bejow.

The plant has a weak stem.

The plant cannot bear fruits.

The plant grows towards sunlight.

The stem of the plant holds the piant firmly to the ground.

VWO

Which of her observations are correct?

(1) P and S only
(2) P and R only
3) Q and R only
4) Q and S only

ACS (Junior) P4 SA1 2015
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20.  Mr Raju wanted to pack eight sets of clothing into his luggage bag. However, he found
that he can only put in five sets of clothing inside the bag.

Which of the following best explains whvy was he unable to pack the remaining three

sets of clothing?
A The clothes are too colorful.
B The clothes cannot be compressed.
C The clothes do not have a definite volume.
D The clothes take up space in the luggage bag.
{1 Aand B
(2) AandC
3) Band D
4) CandD

ACS (Junior) P4 SA1 2015
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21.  Wilfred placed three rods on the fioor. When he placed a magnet next to the
three rods, Rod A and B moved in the direction of the arrow shown in the
diagram below. Rod C did not move. ’

<
.~

Rod A

v

aad ] L :

Did not move

Rod C

@@s

Which of the following rods is/are definitely magnets?

N Rod A only
(22 RodB oniy
(3 RodAandRodC
(40 RodBandRodC
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22. The set-up below show 4 ring magnets M, N, O and P placed on a wooden stand

Wooden stand

LLALF

Which of the following shows the correct arrangements of the poles of the magnets?

(N D 2

M North M| south
South North
South North
N North N1 south
South South
O 1 Nonh Ol Norh
p South p South
North No;th
7
. A )
(3) (4) D
O
> < r——-J
N North N North
g T
North South
o South o North
’ 4
P i South p | South
Np{th North
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23. Lizzy used a bar magnet to repeatedly stroke a steel bar as shown below.

-

18

Steel bar

Compass

She then placed the steel bar next to a compass. Which of the following arrangement
is a possible observation?

Set-up

A : : @
B s N ®
c N S @
D : : @
(1) AandDonly

(2) AandBonly

(3) BandConly

(4) CandDonly
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25.

Dora conducted an experiment to find out if the number of coils around an iron
nail affects the strength of the electromagnet. She recorded her results in the

19

table below.
. Number of iron paper clips
Number of coils attracted to the esgcf:)magnet
3 7
4 10
5 13
6 16

How does the number of coils around the iron nail affect the strength of the

electromagnet?
Number of coils Strength of the electromagnet
) Increase Stronger
(2) Decrease Stronger
(3) Increase Weaker
(4) Decrease Remains the same

Darryl wanted to find out whether the number of batteries affects the strength of an

electromagnet.

battery —} .

wire

Which of the following variables should he change to ensure a fair experiment?

U] Size of the nail
2) Size of the batteries
3) Number of batteries used

(4)  Number of coils around the nail

End of Booklet A
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Booklet B {40 marks)

For quesﬁons 26 to 39, write your answers in this booklet.
The number of marks available is shown in the brackets { ] at the end of each question. or

part question.

26. Lucas set up an experiment as shown below to find out whether living things need
water to survive. He used similar bottles with holes and lizards.

holes

fiies

Set-up B

(@) His father saw the set-ups and said that the experiment was not a fair test.
Explain why. . {1}

(b) Predict what would happen to the lizards in set-up A and set-up B after 1 week?
11

Set-up A:

Set-up B:

{c) What should Lucas add to set-up B to make the experimeni a fair test? 1]

{Go on to the next page)vn

l SCORE ‘ _ /gf
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27. Sharon placed a slice of frés_h bread each into 3 zip-lock 'bags, A, Band C, and
placed each bag at different locations in her house for 2 weeks.

sealed zip-lock bags

fresh bread —

Bag A: Placed at the window sill.
Bag B: Placed in the refrigerator.
Bag C: Placed in the cupboard.

(a) After 2 weeks, Sharon spotted a type of organism growing on ali 3 slices of
bread. Name the organism. i1l

(b) Arrange the bags A, B and C according to the rate at which the organisms would
grow on the bread placed in the 3 different locations, starting from the fastest to
the slowest. _ {1}

(c) What should Sharon do to a new slice of bread if she wants to prevent the
organism stated in (a) from growing? [}

{Go on to the next page)

SCORE /}
3
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28. - The diagram below shows a bicycle. A bicycle transports a person from one place to
another. - :

frame

wheels

(a) - The bicycle is similar to a human. Name the human system(s) that the bicycle
resembles which allows a human to move from one place to another. 11

(b) The frame of the bicycle is similar to a human organ/part in terms of its function.
identify the human organ/part ang explain how the functions of the frame and the
human organ/part that you have identified are similar. [1]

~ (Go on to the next page)

SCORE /]
2
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29. The diagram below shows parts of the digestive system.

(a) Based on the diagram above, in which of the 5 labelled parts of the digestive

system (V, W, X, Y and Z) is digestive juices produced? 1
(b) What is the function of part V? {11
{c) Explain what will happen to the undigested food in part Z. 1]
~ (Go on to the next page)
SCORE

el
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30. The diagram below shows a flowering plant.

Flower

Part A

Part B

(a) What do the flowers of the plant develop into?

)

(b) State a function of part A.

(c) State how part B is useful to the plant.

(1

{Go on to the next page)

SCORE
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Mei Lee carried out an experiment using the set-ups shown below. She used identical
bottles and placed them at the same location. Each bottle was filled with 200 mi of
water and fitted with a stopper. Bottles X and Z contain similar plants ‘Q but with
different number of leaves.

Plant Q

200 mi
water

The table below shows the results of the experiment after 3 days.

Bottle X |  Bottle Y Bottle Z
Number of leaves - 9 ¢ 5
Voiume of water(ml) left 160 ? 185
(a) What would be the volume of water left in Bottle Y after 3 days? [1]
{b) Why did the volume of water in Bottles X and Z change over time? [11

{c) Whatis the relationship betwéen the number of leaves and the volume of water
left after 3 days? n

(Go on to the next page)

SCORE /l
3 -
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32. Study the life cycles of the grasshopper and mealworm beetle shown below.

- \ /@\@

Stage Y @
Stage A Ay
A ﬁ Stage X
Life cycle of grasshopper Life cycle of mealworm beetie

(a) State one difference between stage X and Y of the life cycle of the mealworm
beetle. (Do not mention shape or size) i1}

(b) State one difference between stage A of the life cycle of the grasshopper
and stage X of the life cycle of the mealworm beetle.
(Do not mention shape or size) ' (11

~ (Go on to the next page)

SCORE
2




33.  Study the classification chart below.

()

{ ' N
Group X ] ~ GroupY
frog butterfly
chicken , housefly
(a) Suggest an appropriate heading for Group X and Group Y. [1]
Group X :
Group Y :

Zach found a nymph of an insect and kept it for observation. He noticed that it
moulted several times before becoming an aduit.

(b) How many stages are there likely to be in the life cycle of the insect that Zach

observed? 1]
(c) Why did the nymph moult? [1]
~ (Go on to the next page)
" SCORE
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34.  Steven observed a seed as it grew into a seedling. He recorded the mass of the seed
leaves and shoot of the seedling in the table below.

Resuits. Day 0 Day 2 Day 4 Day 6 Day 8 Day 10
X 25g 20g 15g 11g 6g 6g
Y 5g 6g 9g 16g 20g | 249

(a) Which result, X or Y, correctly shows how the mass of the seed leaves change

during the period of Steven’s observation? Explain your answer. 1
(b) After Day 14, the seed teaves dropped off. Explain why. 1
(c) State all the conditions needed for a seed to germinate. {11
(Go on to the next page)
SCORE



11

35. Mandy carmried out an experiment below for her school Science projei:t- She poured
80mi of water into each of the two beakers, X and Y. Then, she placed two similar
plants into each beaker, followed by a layer of oil to prevent water from evaporating.

plants
roots
wrapped
with plastic layer of oil —_

- water —___

Beaker X . Beaker Y

She observed the plants and recorded the amount of water left in the beakers after
three days in the table below.

Volume of water left in beaker (ml)
Beaker X Beaker Y
End of Day 1 80 77
End of Day 2 80 75
End of Day 3 80 70
End of Day 4 80 60
(a) What is the aim of Mandy’s experiment? (1]

(b) State another variable that she must keep constant to ensure a fair experiment.
(Do not repeat those already mentioned) 1

(c) How will the results of water left in Beaker Y be affected for the 3 days if Mandy
removed most of the leaves from the plant in beaker Y at the start of the
experiment? 1}

(Go on to the next page)

SCORE
3
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Joash wanted to find out how the amount of sunilight a plant received would affect its

growth. He put the identical plants at different places as shown in the diagram below.

Plant J Plant K Plant L

Placed in the school field { Placed in the cupboard Placed in the living room

After 3 weeks, he observed that all the plants had grown taller. He then recorded the
height of the plants.

{a) Which plant, J, K or L, would most likely have the greatest height? Explain your
answer. (1]

(b) During the 4™ week of his experiment, Joash noticed that Plant L was growing A
towards one direction. Explain why the plant was growing in this way. 1

(c) Joash wrote some notes inside his Science textbook about plants. Read the
following statements and put a tick (v) in the true or false column. [1}

Rt Statements True False
() | Mosses are not plants |

(i) | Only flowering plants can bear fruits
| (i'n) Plantsneed air, water and food to survive
(iv) | Sunlsghhs not needed for germination

(Go on to the next page)

! SCORE /‘
-}
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37. Nancy found a box containing six balls of identical size. The balls are made of
different materials as stated below. )

@ @ O & O

Rubber Aluminium Wood Steel Piastic Ceramic

box

(a) Nancy found a magnet, cotton wool, a compass and some iron filings on the
table. Explain how she may use one or more of these materials to get only the

steel ball out from the tamik. . 1
(b) Classify the six balls into two groups with suitable headings. [2]
Balls
) ()]
(i)
(iv)
(Go on to the next page)

S 1 SCORE ‘ A |
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38. John conducted an experiment using a Coppér Rod X as shown in the set-up below.
The battery is connected to the wires and is working well. '

Battery

WQV]WQ\,U ™ Copper rod X

He closed the switch and brought Rod X near some iron paper clips. But none of the
paper clips were attracted to it.

(@) Based on the set-up above, give a reason why the paper clips were not
attracted to the Copper Rod X. 1

{b) Suggest a change that John can make to the above set-up, in order to make the
electromagnet work. M

(c) After John has made the change in (b), suggest 2 other things that he can do to
increase the strength of the electromagnet. 1}

(Go on to the next page) _

‘ SCORE l /}
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(d} John brought the new and working magnet near a box of iron nails as shown
below. : '

Distance between ,
O )magnet and iron nails / / / z

Distance between magnet | Number of iron nails attracted to
and the iron nails (cm) the magnet
5 17
8 9
9
12

Based on the above table, what is the relationship between the distance between
the magnet and the iron nails and the number of iron nails attracted to it? [1]

(Go on to the next page)

SCORE
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_ Rosy pasted a lot of magnets on her fridge as decorations. However, her two-year

(a)

old son loves to touch them and would accidentally drop them many times on the
floor due to his poor grip. After some time, Rosy noticed that some of her fridge
magnets kept falling off.

- T fridge
s
=
> mdge
v magnets
\ /
Expilain why the magnets kept falling off the fridge. [11

(Go on to the next page)

SCORE
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The diagram below shows a pair of floating toy wheels which uses the properties of

magneﬁsm to work. There are four bar magnets below the toy wheels, labelied M, N.
OandP. '

Toy wheel

(b) What is the property of magnets that caused the toy wheels to remain floating
above the four bar magnets? ' 1.

End of Paper

SCORE
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26)a)Both set-ups should have food.
b)A: The lizard would still be alive.
B: The lizard would die.
c)He should add five files the same amount of food in set-up B.
27)a)Moul_d:
b)C, A, B

c)Sharon should toast the bread.




28)a)The skeletal and muscular system.

b)The skeleton. The skeleton gives our body shape like the frame
of a bicycle.

29)a)W and Y.

_b)Part V transports the partially digested food from the mouth to
the stomach.

c)Water would be absorbed from the undigested food in part Z.
30)a)The flowers would develop into a fruit.
b)Part A traps sunlight to make food for the plant.

c)Part B anchors the plant firmly to the ground and absorbs water
and salts from the ground for the plant to survive.

31)a)200ml.

b)The roots of the plants in Bottles X took in the water from the
bottie to survive.

c)As the number of leaves on the plant increases, the amount of
water left in the bottle decreases.

32})a)Stage X of the mealworm beetle eats a lot and moults several
times while stage Y does not.

b)Stage A of the life cycle of the grasshopper resembles the adult
while stage X of the life cycle of the mealworm beetle does not
resemble the adult.
33)a)X: Have 3 stages in its life cycle.
Y: Have 4 stages in its life cycle.

b)# stages.



33)c)The nymph was growing bigger and its new skin was growing,
causing it to shed off its old skin.

34)a)X. The young plant has used up the food in the seed leaves to
survive as it does not have leaves to trap sunlight and make food for it.

b)The young plant has used up all the food in the seed leaves and
no longer needs it as has leaves to trap sunlight and make food for it.

c)Water, Oxygen and warmth.

35)a)The aim of Mandy’s experiment is to find out if roots take in
water.

b)The location where the plants are put.

c)The volume of water in the beaker at the end of each day will be
more higher.

36)a)Plant J. It has the most amount of sunlight for the leaves to make
food for the plant to survive.

b)The plant is growing towards the direction of sunlight window so
as to absorbs sunlight to make food.

c)i)F i)T ii)T iv)T

37)a)She could use the magnet to get only the steel ball out from the
box.

b)i)Magnetic materials ii)Non-magnetic materials
iii)Steel _ iv)Rubber, Aluminium, Wood, Plastic _
Ceramic

38)a)Copper is not a magnetic material.

b)He could use a magnetic material as an electromagnet in order
to make the electromagnet work.



38)c)He could used batteries or coil around the rod more times.

d}As the distance between the magnet and iron nails increases,
the number of iron nails attracted to the magnet decreases.

39)a)The magnets has lost their magnetism because Rosy’s two-year
old son accidentally dropped them many times.

b)The toy wheel repelled from the four magnets below it like poles
repel.



